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No. K H i ks (O | @ ok sk i T [abnE] 5 | BE | Bty UL i

(©) (m) (em) | (mS/m) | (mg/L) | (D) Cs-134 Cs-137

5H27H & 16.0 0.3 13.1 0.0 B 2% VKB Bk >100 16. 4 <A 0.2 €0.71 <0. 69
. St T 8J124H 2 22.5 0.5 14.0) 0.0 W1 % WK A D sk >100 7.4 1 0.6 €0.79 <0. 66
11H1A 2 10. 7 0.5 10.5 0.0 B % K I 0 Bk >100 14.7 <1 0.1 <0.85 <0.75
| sl W 2A2H = 3.4 0.5 5.2 0.0 W5 VKA D ik >100 18.1 1 0.4 <0.77 <0.61
5H27H & 16.5 0.2 14.4 0. 0] W1 % VIR Dk % i 02 3 >100 12.6 <A 0.3 €0.77 <0. 80
) G 8J124H 2 24.2 0.3 15.4 0. 0] W4 % VIR F Dk % i Oz 3 >100 7.9 2 1.1 €0.72 <0. 66
1I1A & 11.0 0.3 1.1 0. 0] W1 % VIR Dk % i 02 3 >100 15. 1 <A 0.2 €0.49 <0.74
| 2/2H 2 0.5 0.3 4.0 0. 0] 1 % VK% Dk 7 A O >100 17.6 <1 0.4 <€0.84 <0. 55
5H27H & 15.3 0.2 13. 6, 0.0, W% VK H DB >100 17.0 3 0.7 <€0.90 <0.84
e e 8J124H 2 23.7 0.3 16.8 0.0 W12 VKRB DH >100 16.9 7 1.8 <€0.54 <0.88
K PRI | FAREI A 1LA & 1.2 0.2 110 0.0, W% VK H DB >100 16.8 3 0.7 <€0.59 <0. 88
| Sy 2/2H 2 0.6 0.3 4.3 0.0 W12 VKRB DH >100 17.6 <1 0.2 €0.79 <€0.92
. 5H27H & 16.4 0.2 15.9 0. 0] W1 % IR Dk % i 02 3 >100 31.4 6 3.0 €0.78 <0.63
4 il S 8J124H 2 22.5 0.2 19.0 0. 0] W4 % VIR # Dk & i 02 3 >100 25.2 5 2.4 €0.74 <0.70
1LA [ 14. 1 0.2 13.2 0. 0] W1 % IR Dk % i 02 3 >100 30.8 4 2.1 <0.68 <0. 66
| 2A2H Jif 1.2 0.2 4.9 0. 0f W1 % VR % D % Hr OV 87 85 38.0 5 3.0 <0.77 <0.61
5H46H [ 22.0 0.3 14. 2, 0.0 B2 VKB D Bk 88 19.0 4 L5 <0.81 <0.84
672H i 18.4 0.2 16.2 0. 0] W1 % WK D FbE >100 20.9 2 0.8 <0.57 <0. 66
TH1R i 9.1 0.4 18.9 0. 0] W1 % VIR Dk % i 02 3 >100 24. 1 2 1.0 <€0.50 <0. 61
5 sl bR HRAUELRT - IRATRT | 8 1H [ 5 0.4 24. 6 0.0 % VR A D Bk >100 22.8 4 1.5 <0. 41 <0. 61
o 9H1H i .5 0.3 16.9) 0.0 B 2% VKB D Tk >100 11.2 4 2.0 <0.66 <0.75
W i 11121 2 10. 0| 0.3 10. 8 0.0 [N >100 21.9 1 0.6 <0.68 <0. 88
o — i 2H2R i 0.5 0.3 2.6 0.0 B2 VKB O Tk >100 24.5 13 2.8 €0.72 <0. 55
7§ 5H6H I 20.6 0.4 11.6 0.0 JRADFkFH % H O3] >100 14.6 2 0.8 <0.78 <0. 88
B * o o 8H1H & 28.8 0.3 24.0 0.0 IRHDfkH %AV 8 >100 16.8 1 1.2 <€0.80 <0. 55
11H1H fif§ 16.7] 0.3 13. 6] 0.0 W12 VKRB DH >100 16.7 <1 0.7 <0.68 <0.75
|| ST 2H2R i 1.2 0.2 2.5 0.0 JR A DB >100 17.3 <A 0.3 €0.77 <0. 80
) 5H6H 3 22.4 0.5 14.6 0.0 JRADFkI % H O3] 74 10.3 5 2.5 €0.77 <0.75
7 1) G SH1H i 30. 4] 0.3 26.9 0.0 JK 70 gk >100 13.0 7 3.2 <0. 60 <0. 63
11121 2 12. 6] 0.4 9.7 0.0 JR 30 ik >100 10.8 <1 0.5 <€0.49 <0. 74
| 2H2R i 0.1 0.3 2.4 0.0 JK 70 gk >100 10.9 1 0.8 <€0.50 <0. 66
5/6H 2 19.5 0.4 15. 6| 0.0 JR 30 ik 55 17.6 4 2.4 <0.67 <0.80
6/2H [ 22.3 0.3 21.5 0.0 B2 WK B O Tk >100 13.7 3 0.8 <0.57 <0.48
TH1H i 27.3 0.3 23.6 0. 0] B3 % VIR Dk % i 0 3 >100 13.5 1 0.7 <€0.78 <0.63
8] REN JII A SH1H it 31. 5] 0.4 26. 7] 0.0 B % K I 0 Bk >100 19.1 1 0.9 <0.73 <0. 66
9A1H i 28.2 0.3 20. 0, 0. 0] W1 % WK D FbE >100 20.9 4 2.0 <0. 80 <0. 84
1120 & 13.1 0.3 10. 6, 0.0 B 2% VKB D Tk >100 24.8 <A 0.5 <€0.69 <0. 69
| SR 2A2H Jif 1.6 0.3 2.3 0.0 W5 VKA D ik >100 17.8 2 0.9 <0.82 <0. 66
5H46H & 19.5 0.2 15.2, 0.0 B2 VKB O Tk >100 15.4 3 2.0 €0.74 <0. 88
62H i 23.1 0.3 18.4 0.0 JRHBDFEIHE MUk >100 15. 2 5 1.6 <0.75 <0. 66
TH1R i 31.4 0.2 23.6 0.0 JR I D >100 15.3 <A L5 <€0.61 <0.75
9 AR )1 ] 8H1H i 32.2 0.4 27.1 0. 0] B 2 WK I D35 7 % 5 Uik >100 17.8 3 1.1 €0.75 <0. 84
9H1H i 30.0 0.2 21.0 0.0 B 2% VKB D Tk >100 13.2 3 1.6 <€0.58 <0.75
11120 i 13.7 0.2 13.7] 0. 0] B3 % VIR % Dk % i O 3 >100 14.2 <1 0.5 <€0.81 <0.75
2H2R i 5.4 0.3 7.3 0.0 B2 VKB O Tk >100 17.4 <A 0.6 €0.73 <0.63
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5H46H £ 20. 5 0.4 15. 6, 0.0 JR I D ¥ b 62 12.0 6 4.1 <0.58 <0.92
620 fif§ 22.2 0.4 17.8 0.0, JRHD [ >100 13.0 1 0.6 <0.67 <€0.99
TH1R i 31.2 0.4 22. 1 0.0 JR I D B b >100 12.2 2 1.8 <€0.84 <0.74
10 FAZENI ES0 8H1H i 32. 4, 0.3 26. 4 0.0, SR I 0D Bk 3 >100 11.8 2 1.3 €0.73 <0. 66
9H1H [ 32.2 0.2 20. 1 0.0 JK 70 gk b >100 7.9 3 1.3 €0.71 <0.75
11121 2 13.9) 0.2 11.2 0.0] W% VIRARDfkAH & 08| I >100 8.9 <1 0.5 <€0.59 <0. 55
2H2R i 5.3 0.2 3.3 0.0 JK 70 gk b >100 9.7 2 0.6 <0.57 <0. 66
| KR 5160 [0 19.4) 0.2 115 0.0 1% K0 Sk [0 100 12.1 3 0.9 0. 60 <0.88
8H2H i 27.6 0.2 21.8 0.0, B 2% VKB D Tk >100 15. 1 2 0.7 <€0.51 <0.63
11 )1 TG 11H4H i 16.2 0.2 15.9 0.0 W1 % R I O Bk >100 14.1 1 0.4 €0.73 0. 75
2H3H [ 7.1 0.3 8.2 0.0 B 2% VKB Tk 3 >100 13.6 6 1.6 <€0.63 <0.75
| 5H6H i 21.6 0.4 14.9 0. 0] W1 % R I O Bk i >100 17.7 2 0.6 €0.73 <0. 63
12 R S 8H2H Bﬁ 27.3 0.4 17.7 0.0, Fﬁét‘wfwﬁ;& i >100 18.7 2 0.7 €0.91 <0. 80
11440 Hif 15.8 0.5 16. 0 0. 0] W1 % KA O Bk i >100 18.2 1 0.3 0. 62 <0.74
2H3H i 7.2 0.4 13.4 0.0 B % K I 0 Bk b >100 17.7 <A 0.3 <€0.70 <0.75
| 5/30H i 13.0 0.5 14.9 0. 0] W1 % KA O Bk >100 25.4 <1 0.5 €0. 48 <0.75
13 S oI 8H29H & 24. 1 0.2 17.7 0.0] W12 VKA DfkA &0z | >100 15.5 7 3.6 €0.73 <0. 69
11ATH i 6.5) 0.3 9.0 0.0[ 15 VIKRHOfkH A Ot | Mk >100 23.2 <1 0.5 <0. 60 <0.75
| P 2H3H it 2.1 0.2 1.1 0.0 B VIR B D Eik Fiid >100 24.9 1 0.7 <0. 67 <0.74
) 5/30H 2 22. 3, 0.5 16.5 0.0, JRID # ok e >100 23.9 1 0.6 €0.77 <0. 84
u S 8H29H Hﬁ 26.0 0.5 18. 0] 0.0, JK F 0 ok b >100 15.0 2 2.2 <€0.54 <0. 88
1ATH fifg 10. 6 0.5 10.5 0.0, SR 0> ok e >100 22.0 <1 0.7 0. 67 <0. 88
L 2A3H [ 4.4 0.6 1.9 0. 0] 15\ IR kA e B O 3 E >100] 256 <1 0.6 0.75 <0.60
wl | IF 5H6H i 21.9 0.5 15.0 0. 0] W1 % WK D FbE i >100 18.9 2 1.3 <0. 69 <0. 88
N 15 J7k‘ ol s 8H2H £ 27.5 0.5 22.6 0.0, B 2% LKA O Bk b >100 21.5 3 0.9 €0.73 <0. 66
ES " 11440 fif§ 13.6 0.4 12.8 0.0 B 2 R 7D Hiok i >100 19.5 1 0.6 0. 62 <0. 63
2H3H [ 6.2 0.5 4.8 0.0 B2 LKA D Tk fi >100 22.2 1 0.5 <0.66 <0. 88
| 5H6H i 22.8 0.4 17.2 0. 0] W1 % KA 0 Bk i >100 17.3 4 1.7 <0. 60 <0. 80
PN 6H3H i 21.2 0.2 17. 6, 0.0, B2 VKA O Tk b >100 19.0 2 0.9 €0.91 <0.48
TH12H i 30.0 0.3 21. 3, 0. 0] W1 % VKA O Bk 3 >100 17.8 4 1.2 <0. 60 <0. 88
16 EillE 8H2H [ 29. 1 0.4 23.8 0.0, B % K I 0 Bk b >100 18.5 3 0.9 <0.76 <0. 69
9A1H i 33.1 0.3 23. 3, 0. 0] W1 % R I O Bk i >100 15.0 6 2.3 €0.79 <0.75
1140 i 16.3 0.3 15.8 0.0 B2 WK B O Tk fi >100 17.8 1 0.7 <€0.84 <0. 88
2H3H i 8.6 0.3 9.7 0.0 W1 % R I O Bk i >100 16.9 3 0.9 <0.74 <0. 61
| 5H46H £ 23. 6 0.3 18. 7, 0.0 JK 70 gk b >100 17.4 4 1.9 <0.62 <0.92
6H3H i 21.4 0.3 17.4 0.0 JRID # ok i >100 19.4 2 0.6 €0.71 <0. 69
THI2A i 3.6 0.3 27.3 0.0 JK 70 gk 3 >100 17.8 3 1.2 <€0.61 <0. 61
17 HRET| FORETA 8H2H Hitf 30. 8, 0.3 28. 3, 0.0, SR I 0D ok e >100 17.4 3 1.4 €0. 65 <0. 81
9H1H i 31.2 0.3 22.6 0.0 JK F 0 ok b >100 14.8 3 1.9 <0.65 <0.84
114H I 16. 0 0.2 16.2 0.0, SR 0> ok e >100 18.0 1 0.7 €0.79 <0.55
| )1y 2H3H i 9.2 0.3 8.6 0.0 WM)I&@ b >100 18.9 15 4.3 €0.72 <0.70
5H6H 3 21.7 0.3 16.2 0. 0] W1 % WK D FbE i >100 12.0 3 1.7 €0.71 <0. 88
6/13H [ 22.4 0.3 18.2 0.0] 1% VIR A DfkA & i 023 | >100 13.5 2 0.7 €0.71 <0.70
TH12H i 34.5 0.3 24. 4, 0. 0] W1 % R I O Bk 3 >100 12.6 1 0.7 0. 86 <0. 69
18 i Il AN 8H2H i 30.4 0.3 24.2 0.0, B2 VKB O Tk b 44 10. 4 14 5.4 <€0.85 <0. 88
9A1H i 31.2 0.3 21. 8 0. 0] W1 % R I O Bk i >100 8.7 2 1.4 <0. 80 <0.75
11H8H £ 11.0 0.3 9.6 0.0, B % K I 0 Bk b >100 11.6 <A 0.5 <0.81 <0.75
2H6H i 13.7 0.3 6.5 0.0 W1 % R I O Bk i >100 12.7 3 1.3 0. 70 <0.70
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(C) (m) (em) | (mS/m) | (mg/L) | () Cs-134 Cs-137
5H30H & 21.2 0.6 17.2] 0.0 B 2% VKB Bk b >100 6.9 3 1.2 <0.64 <0.84
19 e T 81291 i 25.7 0.5 19.4 0.0 W5 VKA D ik i >100 5.6 5 3.7 <0. 86 <0.75
’ " 1LHTH [ 15.5 0.7 135 0.0 B % VK B0 ik [ >100 7.0 <1 0.9 <0.54 0.75
— 2H3H Hif 8.4 1.0 7.3 0. 0] 1% KRB Dk 1 O 1 3 >100 6.3 <1 0.7 <0. 82 <0. 80
™ 570 [ 23.8 03] 207 0.0 15 R0 Bk 4 >100 128 4 2.6 <0.51 <0.63
2 SR S< o 876H Jif 31.8 0.2 27.4 0.0 W5 VKA D ik i >100 12.1 3 0.7 <0.47 <0.75
" © 11H8H i 10.6 0.2 131 0.0 B % VK B0 ik [ 2100 14.3 <1 0.4 <0.64 <0.61
2H6H i 7.2 0.2 8.9 0. 0] % VKRB Dk 1 O 1 i >100 12.7 <1 0.5 €0.76 <0. 80
5430H i 19. 7, 0.2 20. 1 0.0 W% VK H DB >100 14.3 1 0.9 <€0.89 <0. 80
o 8J129H 2 28.9 0.2 21.6 0.0 W15 VKB D >100 8.8 2 1.0 <0.68 <0.73
21 i Y = ~
Wi R 11IA7H i 115 0.2 12.1 0.0 W% VK H DB E >100 10. 1 <A 0.5 <0.56 <0.84
Wil 231 fif§ 9.4 0.2 7.0 0.0 W] 5 VKB D [ >100 9.8 2 0.7 <€0.80 <0. 61
5HTH i 25.3 0.2 20. 0] 0. 0] JK 70 gk b >100 16.2 7 4.8 <0. 69 <0.75
99 f'} Lk < o 861 Iif§ 31.4 0.2 26.4 0.0, JR D Hikk 1 >100 13.1 4 1.6 <€0.80 <0. 66
JIH < 11/I8H 2 11.0 0.2 135 0.0 IR D Bk 9 >100] 151 1 0.5 <0.67 <0.80
K 276H fif§ 7.5 0.2 10.7 0.0 JR 30 ik >100 15. 1 2 1.1 <0.65 <0. 55
Ed 5A7H i 25.5 0.2 20. 1 0.0 B2 VKB D Bk b >100 15.9 8 7.8 €0.71 <0. 69
630 fif§ 23.8 0.2 23.2 0.0 W15 VKB D [ >100 19.3 5 1.6 <€0.89 <0.84
TH12R i 28.8 0.2 27.5 0.0] 1% VKA DfkA &0z | >100 16.9 5 2.4 <0.65 <0. 69
23 Fe)ll Ji) A 86H i 31.2 0.3 26. 4 0.0 W1 % KA O Bk e >100 13.2 5 2.1 0. 58 0. 75
9H6H i 29.0 0.5 25.2 0.0 B 2% VKB D Tk b >100 13.9 2 1.3 €0.71 <0. 80
11781 2 15.2 0.3 11.9 0. 0] W1 % R I O Bk i >100 18.2 <1 0.6 <0. 60 <0. 66
i WL 2H6H i 14.3 0.3 9.2 0. 0] W15\ R 2 D ik 7 4 5 O 3 i >100 20.4 10 3.5 <€0.63 <0. 69
I o 57H Hitf 27.5 0.3 22.4 0. 0] IR 7D i 42 17.4 11 9.2 <0.67 <0. 96
6/13H [ 23.6 0.4 22.8 0.0 W% VK H D B b 75 19. 1 2 2.2 <€0.55 <0.75
7121 Iif§ 30.0 0.3 28.4 0.0, JRHD [ >100 17.8 6 2.9 <0.67 <0.80
24, ]| K 8H6H i 30.9 0.4 26.3 0.0 W% VK H DB b >100 15.5 4 1.9 <0.76 <0. 61
9H6H I 28.7 0.4 25.1 0.0 JRADFkI % H O3] i >100 16. 2 3 1.8 0. 70 <0. 55
11H8H £ 15.3 0.3 9.3 0. 0! JR I D b 28 16.6 31 34 <0.77 <0.84
2/6H fif§ 14. 1 0.4 9.3 0.0 W12 VR A D ; >100 16. 4 2 1.5 <€0.80 <0. 55
5H24R i 28. 1 0.4 9.9 0.0 JRADfRFZ A3 b >100 10. 4 <A 0.5 <0.57 <0.75
; N 8J126 fif§ 27.1 0.5 19. 0| 0.0 W15 VKB D 1 24 12.5 7 8.7 <€0.90 <0. 69
25 b3l JINRSH—JEEP
7 . Tl R 117260 i 8.6 0.4 9.9 0.0 JRADfRFZ O3 b >100 9.6 <A 1.4 <0.65 <0. 80
2J18H 2 2.2 0.3 6.1 0.0 P B VKRADKRA MO I >100 9.7 <1 0.6 <0.67 <€0.92
5H24H & 24.5 0.3 15.3) 0.0 B2 VKA O Tk b >100 9.0 <A 0.1 <€0.61 <0.63
2% | o 8H26H fifg 26.9 0.3 18.1 0. 0] W1 % WK D FbE i >100 8.2 2 1.2 <0.74 <0. 80
7 E " 111260 i 3.1 0.3 5.8 0. 0] W15 VKA 0k A O E >100[ 10,3 1 0.3 056 <0.80
jﬁ )Tl Ao 2H8H 3 0.2 0.3 2.8 0.0 W1 % WK D FbE i >100 10. 2 <1 0.2 <0.67 <0. 69
x x 5H24R i 19. 8 0.4 13.5, 0.0 B2 VKB O Tk b >100 8.4 <A 0.4 <0.67 <0. 96
o1| F & BN F 826 H i 29. 1 0.4 18.2 0.0]| FI 2 WIRHOfkFp 2 U3 | I 13 7.9 37 57 0. 56 <0. 70
11H26H [ 6.2, 0.5 9. 4, 0.0] 1% VKA DfkA &0z | >100 8.2 <A 1.2 €0.71 <0. 85
2/8H 2 2.1 0.4 5.1 0.0 W1 % R I O Bk e >100 9.0 1 0.5 €0.78 0. 75
5H24R i 24.5 0.3 12,7 0.0 B 2% VKB D Tk b >100 9.4 <A 0.6 <€0.61 <0. 61
28 sl e 8J126 fif§ 26. 1 0.3 18.9) 0.0 W15 VKB D ; 18 6.7 68 72 <€0.54 <0.80
- 11260 & 10. 2, 0.4 9. 4, 0.0 B % K I 0 Bk b >100 8.5 8 3.9 <0.86 <0.75
2H8H i 2.4 0.2 5.7 0. 0] 132 VKRB Dk i O 3 i >100 10.6 2 1.1 €0.81 <0. 88
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© o @ B Jé(%ﬁizz el oSS B TR e T A fEE
A = cm (nS/m) | (mg/L) (& s — s—
5i%A | & 22.7 0.2]  17.0 0.0 TN T >100 55 D | Colst | G137
S > = a0 - Rt I 20 ) <1 0.3 <0.63 <0.80
- . 7A8 = i 9.1 <1 0.3
2 o i ”EI 2 21.7 0.2 18. 1 0.0 1% WK 0 ikk 3 5100 31 0.5 0.7
8/125H fifg 29.7 0.2 21.3 0.0, IRHDH 2 X = o2 - —
9Ji2H [ 301 0.4 18.1 0.0 S [ >1§f, o1 19 16 <0.62 <0.92
11126 & r - 6.8 <1 0.5 6
228; :i 1% 0.2 9.3 0.0| W15 IR A Dk A 0T | 5100 7.4 <1 0.3 ig ;g ig o
— i . 0.1 5.5 0.0 W12 K70 Bk I - - - 61
‘ 5A25H | & 17.6 0.2 115 0.0 mu\mz,@;g = 0 I3 4 0.3 <0.76 <0.80
30 Bl *itt 8J25A | 2.6 0.2 140 0.0 o ST —r o 0.0 0.78
{ i ) ] ) K0 Fik >100] 179 1 6
T = " o = = L . 0.7 <0.72 <0. 66
= . ] Ry >100] 185 <
— 2H90 %= 2.2 0.2 6.0 0.0 TR A0 ik y : e 2.5 <058
5 21H I 17.5 0.3 8.9 0.0 1 % ¥ : - L2 3 L7 <0.75 <0.63
N B I . . 1% R I O Bk i3 >100 11.6 2 2
e | B it sH1zn | & a2l o8] 10.1] 0.0 Dinvmmo ki I : e
TR = - - o0 wm\m&@ﬁé % >0 117 <1 0.4 <0.81 <0.75
hon = = - ! o e e :gg 9.8 <1 0.2 <060 <092
SR T = O BT L - 3 1.9 <1 0.3 <0.72 <0.88
- . X . 2 WK D y
32 BRI | 8HI2A | &= 27.0 0.2 179 0.0 %Zu\ﬁ;m% [ — ~ %3 e <0.69
LA L6H | W % Y Y Y T I T — 4 Lo 0 07
hon = = =2 = g 100 113 3 2.1 <0.81 <0.75
2 i . 5 . 0.0 B % UK B D i3 -
A " oJ;AH it 18.8 0.3 17.3 0. 0] B3 % VIR % 0 2 % i OV ik m :82 ii? : . el <0. 58
617 = 5 T - 0.3 5
. p p 7HSE i 16.2 0.2 12,9 0.0[ A VKL ORZZ ROk 1 S100] 123 3 0.6 ig :O 0.
mf 0 N R (Bt D 228 02l 1551 0.0l MHVKAOEMEHTLE] M 10| 122 ’ X7 T
X X Sz | W 506l 03] w0l oolnisvmsohnsfvrE] ) 4t 0 0.8
£ EA 9A2H I 30.8 0.2 15.7 0.0 1% 7 v n 0 12.0 2 0.9 <0.72 <0. 69
L . . . DVIRHBDOEL Z O fk| M >100 10.9
TR ] m o7 ) o T o . 3 1.0 <0.80 <0.69
— 2J18H i 5 2. L0 12 VKRB DS & Ok | >100] 11,6 <1 0.4 0. 71
E # 1.2 0.1 4.2 0.0| B VKB OESE MO 4| IE 100 10.0 - — <0.75
5/240 [ 27. 9] 0.2] 17.6 0.0| B 50K RS : <1 0.4 <0.72 <0.70
ST - : . . Of B2 WK B DA% H O 3 i 5100 10. 4 7 2.8 20.87 -
G B 18. 1 0.2 138 0. 0| W15 VIR A Dk A 0Tt | S0l 106 1 08 0.7 .56
= —— . ]
3 EITI (7 - EJ I S R N % Y7025 N A1 o
i 29.6 0.5 248 0. 0] 115 VIRA D ik e i O B 2 9.5 7 ; — e
9i2A i 312 0.5 22,9 0.0 W15 K0 Bk [ 40 5. m 5 O >4
T = - : i 3 11 1 ;
2;3; i 15.2 0.2 107 0.0| W15 VIR A Dk A Ot | HE 100 10.7 2 1 2 ig ;g o
2413 i 8.7 0.1 8.4 0o BB R B DR AU | IE ST RS - . <0. 66
5A7H [ 201 0.4 13.3 - Y - 2 L1 <0.82 <0. 66
35 " — - : 0.0 B VKB DERE [0 100 10.9 -
PERA) |7 R 8H6H B 26. 1 0.4 19.7 0.0, B 2\ K 20D B i - 2 L5 008 0. 78
T & o T o0 — >100] 113 5 1.7 <0.54 <0.84
2 . . 1% R I O Bk fild >100 11.2 4 2 7
- — 2HTH 5 6.4 05 61 0.0 K 2 > H ) = — 08
S i = o oL - i >100] 128 2 0.8 <0.68 <0.80
36, . - — : : 1% W R F O ik S100] 120 3
A4 (ERAP) 8A60 i 28. 1 0.3 __2L2] 00| N5 CIKH Ok A 07 1 - L4 <0.87 <0.75
T = o — B RO >100] 13,0 3 0.8 <0.62 <0.55
o e 2 = b3 ] o[ B VIR DR OV >100] 133 1 0.8 071 <0.75
” i . 5 8.2 0.0 B % WK B O Hik ) ) ) .
ST = T 00 kS BDik >0 13.7 2 11 <0.77 <0.55
; B 2 . . 1% VR I D Bk 85 16.2 12 2
PRiE B 81 12H i 32.0 0.3 27.7 0.0 DB - 25 <0.50 <0.50
- 2 . . K H0 F ik >100] 193 7
1AsH | 2 12,6 0.3 133 0.0 Ry T 28 0.8 .78
SRTT = o o3 - — Kooy S0 178 3 12 0.73 <0.70
ik >100] 173 4 18 <0.88 <0.75




WA Al

(K'HE)

5/6

PR AH
smn | e | | Bk B A P
Yo. g, Hni s TR © m | K| B EIE |l e
s = @t B BHLE |wsdssn| oSS B HEE v D 4 fiii &
—— = — — — — = - (em) | (mS/m) | (mg/L) | () Cs-134 Cs-137
6161 2 21.0 1.2 18.7] 0.0, }9?7%(7);%; T 0 M‘? : - o o
) | ) o £ — — — o0 — ikt >100 16.7 6 1.8 <€0.61 <0.75
- - - — — 0.0 0.1 2443 040 ;ﬁy D gk b >100 18.5 10 3.0 <€0.80 <0.75
. . X . IR 7D 5% 4
=L o — _ )\t %ﬂ‘i _ E >100 16.3 3 1.8 €0.73 <0. 55
. 1.2 24.1 0.0 JRH Dk A O 8 b 82
11150 2 12.2 0.4 12.9) 0.0, JR 30 ik 3 T >100 S ; 5 G o
— = 22 ot L o0 O 23.5 1 1.1 <0.65 <0.96
27 i . . . . K0 H ik fi
5H21H fifg 15.5 0.3 9.7 0. 0] B 2 WK I Dk % i U2 35 I :82 ??g ; x 0 ZS G
39 R 8HI12AH £ 26.9 0.2 12. 1 0. 0] B2 WK Dk % 5 U2 38 >100 11- 5 g o o o
11]16H i 8.8 0.2 8.3 0.0 msb\mﬁmﬁﬁé%tﬁt% >100 11‘4 <'l 0 o5 o
P B it 2A7H [ 2.4 0.2 5.7 0. 0| {5V KA DA Z RO >100 11-8 : I D e
57211 fif§ 14.0) 0.4 13.8 0.0]  IRZDERIEHOT " 1 ‘ . T kT e
. o - = = 3 ’ 2 ) 00 13. 1 3 0.6 €0.74 <0.80
.3 0.3 16. 2, 0.0 JRH Dk Z O 8 b >100 15
11]16H Iif§ 12. 4] 0.2 12.0) 0.0|  JRADFESE O T >100 v ; o T o
U . i 15.2 <1 0.4 <€0.70 <0. 8
Z% SHZIE:I g%f zé(z) 0.1 8.0 0.0 1B VKA Dk A 4 O3 | % >100 17.7 <A 0.3 <€0.50 <0 42
P i 23. 0.5 20. 7 0.0, W] % K 20D ik ) ‘ ‘
s et i 2.0 0.5 i >100 14.5 4 1.4 €0.77 <0.75
2 . . 18.0) 0.0 1 % VK 20D Bk [ '
i — 2 2.2 ! i >100 15.0 3 1.4 €0.71 <0. 6
" % " - L a; ;ZZ gi 20. 8, 0. 0] W1 % VKA O Bk i >100 15. 1 3 0.9 €0.71 <o‘ 72
i 3 5 24. 3] 0. 0] B 2 R D Hi ik i ) ) .
| — — 2.2 0.1 25 00 wﬂlbu\;%j@;g = >100 15.7 4 1.4 <€0.51 <0. 61
FHE 11H14H 2 16. 1 0.3 13.6 o. 0 Fﬁéh\!ﬂiw“;& W ST o ; ) 5 o
— — - 0.5 1.0 0: 0 wbu\myf@;é = >100 16. 1 2 L1 €0.53 <0.70
4 5H21A [ 25.3 0.2 23.2 0.0 DY \JMM)ﬁ 0 I : o B T
. 2 TE 2 < U 81121 fif§ 31.8 0.2 24.3 0.0|  IRADFEIEHE O T :82 igg ; = o o
: L - L ! . ’ ’ i . 3 1.5 <0.87 <€0.92
i I U L 1«;42 g? igs 0.0 JRADFRHZ AT 1 >100 19. 6 1 0.8 <0.65 <0.92
* 2 . . . 0.0 JRH D b >100 20. 2 ‘ X
— i . 3 1.3 <€0.61 <0. 5
j . 5H7H HE 18. 2, 0.3 17.7 0.0] 1% VIRA DA Zfi0 3| % >100 20.2 6 3.4 < =
WA E = iy 861 [ 33.1 0.3 25.4 0.0, JRHDHE [ >100 19‘" ‘ NG o
11450 £ 11.1 0.3 13.5 0.0 B2 VKA O Tk @ >100 23-4 g ; ; o 0
il 2HTH i 6.1 0.3 8.4 0.0 [ : ) - o T
. . . . ] % KB D
5H10A £ 21.6 0.7 18. 1 0.0 glx«f@éi 5 [ -5 o T - D XT
m i i 81121 fif§ 30.5 0.3 25.6 0.0, JRHDHE T >1§§ ;22 g g o ]
11H5H i 17. 1 0.3 14.0) 0 7 - ; X o s
. . . . 0 JRH-D 1 >100 2
— — - 0.5 L0 0.0 i 9.2 <A 0.6 <€0.52 <0.79
. . . . KD I 9
5A7H i 24.5 0.3 21.0 0.0 ;f';wi [ -2 I : = T E
145 B e 861 fif§ 25.2 0.6 21.4 0.0, JR 30 ik T >1§§ 22 122 5 o e
0! i i . 0.6 <0.67 .5
H26F i 4.1 0.2 7.1 0. 0] W1 % VIR Dk % i 02 3 >100 9.9 3 1.6 5 R
| 2H9H = 0.3 0.3 4.8 0.0 W1 % WK D FbE 72 11‘4 ‘ XD o
5H7H i 23.5 0.2 19. 8 0.0 ] PR - ; ot o o
‘ : / i . . 9. . B WK A D Bk
16 g . P ey 861 Iif§ 31.7 0.7 25.3 0.0 [N ?i ig f . oD o
| 11260 i 8.1 0.3 3 B D - o X o
e . . 13.3 0.0 W% VKA 0 Bk >100
o ?HQH 2 1.1 0.2 6.3 0.0| {5 WRH DRk % O 3 >100 éi; % S X o
A 5A7H i 23.8 0.2 20.3 0.0 W% VK H DB >100 : ; o X o
W7 N KB R 861 fif§ 30.2 0.4 22.1 0.0 W15 VKB D >100 ej? ; o O o
11260 i 6.7 0.4 10. 2, 0.0, ) 7 T 1 o N QT
. . . . %KD ik 72
B 2A9H = 0.7 0.2 6.4 0.0 W1 % WK 22D Bk >100 Z? 2 3; o o
5A7H i 23.9 0.1 26.6 0.0, U] (B DT ) - D T
. 9 . 3 . 2 WIKH DB
18 ] Nk 861 fif§ 29.7 0.2 23.2 0.0, JRHDHE ~ :82 o : S o o
il i 9 . 16. 4 4 1.6 <€0.71 <0.
ZH9HE| i 39 0.1 7.4 0. 0f 1 % WK Bk % 1 O 8 >100 18.0 2 1.6 €0.79 <0 32
E .7 0.1 3.4 0.0 1% VR 7 ‘ 50 ‘
2\ R D 87 19.6 2 2.1 <0.50 <0.70




MiARR FI OKE)  6/6

Pl : AR
A Kl Sl | AR i _ pireilE] __ ‘ __ Jidkd 1'92%147/,%& (Ba/L)
No. Kk 54 TR (0 (m) K| gk arm B [eaeEs] ss e HETEE 7 4 iz
(C) (m) (em) | (mS/m) | (mg/L) | () Cs-134 Cs-137

5A7H [ 22.3 0.1 18. 3] 0. 0] W1 % VIR % DR % i 02 3 >100 10.3 <A 0.4 €0.71 <0. 88
19 o AT 8J16H fif§ 31.0 0.5 23.4 0.0 uﬂéb‘»—%]f@ﬁ >100 9.9 3 0.6 <€0.71 <0.75
11260 [ 7.7 0.4 13.0) 0.0, B 2% LKA O Bk >100 12.2 <A 0.4 €0.53 <0.74
|| . 2A9H = L1 0.1 9.7 0.0 W5 VKA D ik >100 15.7 <1 0.2 <0.48 <0.54
JT\ 5H10H £ 20.0 0.4 17. 4 0.0 JRH Dk A O 8 57 17.3 32 8.6 <0.74 <0.75
x Bl 6H6H 3 23.4 0.3 20.7 0.0 JRADFkF % H O3] 72 23.9 3 3.1 <0.75 <0.75
Ik TH5R £ 21.5 0.3 22. 6/ 0.0] KRB Dk % i U= B 80 17.5 13 2.9 <0. 65 <0.55
50 LKA AN 8121 I 28. 8 0.2 25.1 0.0] JRHDigkr % U >100 16. 8 5 1.8 <€0. 92 <0. 66
9H6H [ 31.0 0.6 25.4 0. 0] W1 % VIR Dk % i 02 3 82 15.7 15 2.9 €0.72 <0.84
11150 fif§ 18.2 0.3 16. 1 0.0[ JRADFEHREHEOT- >100 20.4 8 3.5 <0.65 <0. 55
| 2A7H i 7.3 0.3 8.0 0.0|  JRZBOfkI A H OV >100 22.8 5 2.3 <0.67 <0.75
5101 2 20.4 0.6 18. 3] 0.0 JRHDHE 37 25.3 15 8.4 <€0.84 <0.84
m 616 H £ 24.8 1.0 19.8 0.0, JRH-D 52 27.5 8 2.6 <€0.55 <0.75
e TH5H 2 21.0 0.8 21.6 0.0 JRHD 68 22.8 12 3.8 <€0.80 <0.75
51 2IN (=Xl k21 AT 8H12H Hitf 27.1 0.8 23. 9 0. 0] JR I D >100 28.3 24 7.0 <0.76 <0.84
K 9H6H i 34.3 1.2 26. 4, 0. 0] W1 % WK D FbE 79 25.0 8 1.7 €0.79 <0. 63
K 1LH17H [ 15.4 0.8 16.3) 0.0, W% VK H DB >100 26.3 6 2.9 <€0.84 <0.70
| 2J1101 fif§ 9.6 0.8 12.0 0.0 JRHDHE 62 30.6 38 17 <0.63 <0. 66
54120 [ 17.0 1.0 13.7 0.0, B2 VKA O Tk >100 20.2 2 0.5 <0.65 <0. 55
e 6H2H i 20.5 0.2 14.5 0. 0] W1 % WK D FbE >100 10.0 <1 .3 0. 62 <0. 61
i B THI3A £ 23.0 0.2 18.9) 0.0, B 2% VKB D Tk >100 16.7 <A 0.5 €0.72 <0. 80
w52 jﬁ E PONFEEPTIE R || BUKE | B e 8141 Hitf 25. 0, 1.2 16.8 0.0 W] % UK 20D Bk >100 7.2 <1 <0. 1 €0.79 <0.92
i A | 9H29H & 20. 7, 0.4 155 0.0 12 RSO ik >100 8.0 < 0.5 <0.62 <0.84
ES 2;2 114241 = 0.8 0.2 .5 0.0 B 2 VR 7D Bk >100 19.4 <1 0.2 0. 62 <0. 63
| k 2H9H £ 2.3 0.3 3.2 0.0|  RHDF %O >100 27.5 <A 0.2 <€0.84 <0.47
5H23H Hif 31.3 0.3 22. 1 0. 0] W1 % WK D FbE >100 13.5 <1 0.5 <0.75 <0.75
53 G 8H29H Hﬁ 29.6 0.5 21.6 0.0 Fﬁéwx?fwﬁ;& >100 8.8 9 4.7 €0.73 <0.75
11A17H fifg 9.8 0.3 10.7 0. 0] W1 % WK D FbE >100 14.2 <1 0.9 <0.84 <0. 88
| e R 24100 i 6.2 0.2 4.7 0.0 B2 VKA O Tk >100 15. 4 2 1.3 <€0.82 <0.75
) 57231 fif§ 31.6 0.6 23.5 0.0[ JRADFEHREHEOT- >100 13.6 2 0.7 <€0.78 <0. 55
54 i R | 8129 H % 30.0 0.8 22.4 0.0 JRBDikIr A O E 80 9.3 7 3.3 <€0.58 <0.75
JI 11H17H i 13.3 0.5 12.0 0.0 JRADFkF % H O3] >100 14.8 <1 0.9 0. 62 <0. 66
| x 27101 i 7.2 0.6 6.7 0.0|  JRZBOfkI A H OV >100 18. 1 2 1.3 <€0.84 <0.70
" 57231 fif§ 30.7 0.3 25.6 0.0 JR 30 ik 68 20.7 3 1.9 <€0.84 <0.75
_ R ) 8H29H it 29.5 0.4 22.5 0.0 JK 70 gk 70 10.9 18 5.0 <0.63 <0.84
5 BRI gt 11H17H i 16.4 0.3 14.0 0. 0] W1 % WK D FbE >100 20. 6 2 1.4 €0.79 <0. 80
|| 2H10H it 10.3 0.2 8.7 0.0 JK 70 gk >100 24.8 20 5.4 <0.75 <0.79
57230 i 28.4 0.1 24.0 0. Of 1% KB Dk 1 OV 8 80 24.9 8 5.0 <€0.90 <0. 55
616 H & 25.2 0.2 23.4 0. 0] W1 % IR Dk % i 02 3 42 20.7 8 3.9 <€0.59 <0. 80
TH5H 2 23.4 0.3 23.5 0. Of 1% VKB Dk 1 OV 8 40 18. 1 34 14 <0.65 <0. 61
56, DR LENI 8H29H 2 28.7 1.0 21.2 0. 0] W1 % IR Dk % i 02 3 65 13.9 13 5.7 <0.67 <0. 69
9H6H i 37.2 0.2 27. 8, 0.0] JRHDigkr % U 72 20.5 7 2.7 €0.71 <0. 69
1LH17H [ 16. 2, 0.4 14.0) 0. 0] W1 % VIR Dk % i 02 3 85 24.4 3 2.3 €0.78 <0.84
2H10H i 9.8 0.1 8.4 0. 0] % KRB Dk i O 1 >100 25.7 5 3.5 <0. 80 <0. 60




WiARR il (K5E) 1/6

BRI
} i | ki
No. . FIH Kf SR Pk — o
© (g g " f © | : {0
P TR (%) = SHEW R [Ba/ke (J27E) ]
- = £ s/ n e —~ mies B <
. 5/27R 0.3 B fpgsy | batoy | megsy | mmoy | dwsy | s [vor bo] fhits | (% (&/en’ A > 5 A
R T sH2if | & o 2 3.0 __17.8] 159 265 32.0 2.9 01 - = g/cn) Cs~137
K B 32. 2.9 . 5ol
ALH =Y 05 S 1ol 46.4] 13|  16.2] 218 15 01 ;‘k”g Ld 3.1 14 14
el Py EEL 0.5 5 0.0l 363 1 RN ) Y Y S -2 7.3 .3
) o l’H;'H 2 0.2 - 0.0 a4»0 9] 802l 406 3.6) 0.8 ) -2 13 13
R 8H24H 0.3 5 g'O 2.9 6.8] 28.6] 183 0.9 0.0 ORT 5.2 18 18
1ALH 0.3 ) 5 O‘g 2.8 3] 19| sz 78 1o S -0 19 19
rZHaZ—H ® 0.3 B 5 T o‘ 5 25.7 5. 1 28. 0] 9.8 0.2 0.4 o 3 ' 18 18
| . ‘ 5A21H 02 144 5 o . 0.8 4| 43.6]  42.0 21 01 6 g 1l 1
e 1| R 8H24H — il 0.0 28.7 9 22. 0] y 3 29
- 3. 0.3 17. 6] 5| S 0.0 — 22, 4. 3] 0.1 0.3 3. a7
AR | & 112 0.2 1.6 4 ) 0 7.3 o 18| 66l 11 0.9 — 3.7 12
T 2Rz 0.6 0.3 4.2 5 [ L 6.8 9]  28.0 7.8 1.2 2 2 u
5H27H 16. 4 0.2 — 0. 0] 7. 6] .5 32.8 - 6.7 44
4 wil B SH2 : - 2] 165 5 R o0 > - 3.3 L3 2. @l ;
2l B 24H 2 22.5 02 19.2] E o 49.1 5 16.5 0.1 0.2 o) d 26
HALH [ 14.1 0.2 13.1 5 ) 19.7 22.6 15 0.5 5 24
2H2H [ 1.9] 0.2 5.0 5 3.6]  20.5 18.7 5.5 0.6 - 32
5H6H i 22.0 03] 6.1 - 0.0l 417 7.6 9.8 5.5 0.9 ; 2
6H2H i 18. 4] 0.2 17. 6| 4 0.0 17.7 29. 0] 30.2 0.2 0.0 z‘ 19 9
5 ¢ THIH i B = 0.0 29.2 27.3 23 . 3 1
5 Esoyll] |- p— y . i} 9. 1 0.4 18.7 6 - 23.8 0. 9] 0.1 - 1
p i IRFUR - IR | 8ALA W v " Lol 487 172[ 110 T4 0.9 ; - 35.5
" - 94 10H ] 5.5 0.3 B éi 2?»6 17.9] 212 3 ) 0.5 > 6.1 36. 1
i )i i2H | & To.0] 0.3 - . 5.0 98| 205 526 87 00 P L 7
* 2H2H [ 0.5 e : 0.0 42.6] 26,7 148 12.8 2.1 0.3 o) 86.5
F 5H6H [ 206 0.4 = 0.0 5.3 9.4 283 16.9 5 . - 64.3
6 R = 5 50 - 5.9 L7 2.
R 8HI1H 2 28 8] 0.3 5 5. ¢ 40.6 12. 5, 7.5 21.2) 3. 6] 1o ) 135
AR O o o3 > _ 3.8 88.2 7.0 0. 6] 0.2 0. 0] 0.0 z‘ — 48.3
AT 2H2H [ 1.9] 0.2 E ! 8] 15,4 3.8 1| 42| 239 22 > 2 6.9
5H6H ) 22.4 0.5 .0[ 613 18.5 9.2 3.8 5 . 2l 151
7 il B 1 ; = 5 o : - Lo 06 2.
B 8H1H [ 30.4 0.3 5 -0 75.9 6.1 3.6 4.6 0.4 0.4 ) g 23.1
11H2H = 12.6 0.4 B 1 68. 6| 13.0 4, 3. 0.4 0.3 — 65 75
2H2H [ 0.1 0.3 % . 0] 58. 0, 21.0 1 7 0T o 2. 64 o m
sA6H | & o5 o4 o 1 sa 5o 1 P = 70 55
65120 [ 22. 3 0.3 B 0 0.0] 0.0 L. 19.9] 36 ; 57] 66. 5
8 21| 11 THIH i 273 0.3 7 .6 55.2 35. 1 5. 0.2 01 z‘ 86, 104
8H1H it 07 7 0] 26.5 9.7 0.7 2.2 : 21 21
SR | Wk o ! o[ 15.6] 414 v = 58 73
LJizE | = 13.1 0.3 7 -0 0.0 0.4 29.2 5.9 ; 36 415
KT 2A2H ff§ 1.6 0.3 - .0 L9 2.8 11.0] 16 o) 120
5H6H ) 19. 5| 0.2 5| -0 .0 13.5) 8 0.3 - 19 85
PN T 5] 0.9 7 o 9] 210 o o ; ‘ 1 72
9 fszill e IA1H g 314 0.2, 5 3 20.1 0.3 03 o 4.0 17]
SHIH | W 329 04 7 -1 4] 20.2 0] 04 L 3.6 19
9H1H il 30.0 0.2 7 WA ) —7 5.7 5| 206 0T o0 2. 7.9 32|
A2E | W [ Y 7 e o oo o2 8] 01 20 L 16
2512H i 5.4 0.3 7 oA —> 0.0 39.2[ 29.2 o1 0.0 > 5. 2| 36
2.3 55.7 16. 0 0.1 0.0 - <3.3] 24/
3 3 2. 664] i - i 4.6 5 5




WiARR I (E5E)  2/6

BB } i — B , — s
B Kb S AR | _ _ AT H S— __ hxé»l‘fH%IxaM‘: [ﬁq’kg(wJE),
Yo. Kk stk St @ ER @tn R _ 10 N _ e ] BHPEEY 7 h
[§®) MBSy | RS | MESY sy | Ay | v b oy Kibgy % (g/cm”) Cs—137 ait
5H6H 0.4 168 KAV —7 0.0 218 5.6 0.8 L6 s2.7 2731 - 7.7 40) 47.1
65120 0.4 19.2] KAV —7 0.0 453 0.8 0.0 0.7 81.0] 2.705 6.0 361 42.0]
THIH 0.4 23.3] S Lo 639 0.7 0.4 0.7 90.3] 2.608 7.0 27] 34.0
10| 31| R 8HIH 0.3 27.4 KAV —F 4.7 46.7 26.4 0.1 0.0 0.7 86.2] 2636 5.2 29 34.2
9H1H 0.2 213 KAV —7 0.0 0.0] 1.5 2.7 0.1 2.9 12| e 6 70) 86,
1121 0.2 118 0.0 49.8] 351 1.9) 0.2 0.9 89.4] 26 21 21
| 2520 0.2 4.0 0.0 32,4 235 0.6 0.1 3] s0.0[ 26 42| 48.8
PNELH 5H6H 0.2 0.0 ars] 17.3 8.4 0.9 L5 2. 26) 26
. - 8H2H 0.2  22.8 9.5 50.0] 13.3 0.2 0.3 0.5 2. 10 10
u el PRI 1154H 0.2 16.3] 0.0 0.0 0.0 25. 1 0.0 3.0 2. 29) 29)
| 2530 0.3 8.1 23.1]  29.0 0.0 : 30.3 1.6 2.4 2. 67) 76.2
5H6H 0.4 16.5] 0.0 34.6] 209 20.3 0.7 0.7 1.4 2. 61 71
N - S 8H2H 0.4 181 1.9 6.6 Xi 0.6 0.4 1.2 2.6 54 64
12 R Fhi 1154H 0.5 15.3] 0.0 3.9 0.9 0.0 1.0] 2. 43] 52.8
| 2530 0.4 131 7.8 X 0.0 0.0 0.4 2. 31 37.7
5/30H 0.5 15.3] 0.0 9.7 5.7 1.2 1.6) 9. 2. 8.8 8.8
M e 8H29H 02 9.1 0.0 . 2| 0.2 2.0 Lol 690 o 14 14
11HTH 0.3 9.8 0.0 . 4] 3.3 0.7 13 745 e 9.7 9.7
» 2530 0.2 5.7 0.0 6] 7.9 0.1 2. 2. 9.8 9.8
| AU 5/130H 0.5 18.4 0.0) 0.1 0.2] 0. 2. 21 21
u o 8H29H 0.5]  18.6] 0.0 0.6 0.3 0. 2. 25| 25
11HTH 0.5 11.2] 6| 0.0 0.6 0.8 0. 2. 29) 35.5
il 2/3H 0.6 5.3 5 0.0 0.3 0.1 0.f 2. 15, 15
i ﬂ 5H6H 0.5]  14.7 7 0.0 6.7 0.8 1. 2,73 16 16
- X BT e 8H2H 0.5]  22.9] 7 0.0 4.0 0.8 L5 2,73 13 13
; ES v 1154H 0.4 13.0] 7 0.0 3.6 0.0 2. 2. 12 12
| 2530 0.5 5.2 6| 0.0 7.4 0.0 2. 2. 17 17
5H6H 0.4 17 7 0.0 5.5 1.0 1. 2. 5.0) 5.0
KR 643H 0.2 18.2 6} 1.7 1.1 0.0 1. 2.6 4.2 4.2
TH12H 0.3 214 5 3.8 .8 L8 0.5 1. 2. 7.9 7.9
16 ElL 8H2H 0.4 24. 4] 7 11.3 .4 0.5 0.0 1. 2. 11 11
9H1H 0.3]  24.3 5 0.0 . 8 3.5 0.1 0. 2.7 14 14
1154H 0.3 158 5 0.0 . 0) 8.9 0.0 1. 2. 14 14
| 2530 0.3 10.4] 5 5.6 9.8 6.2 0.0 1. 2. 15 15
5H6H 0.3 174 5 1.2 . 6] 0.3 0.5 0. 2. 69 10 10
65130 0.3 18.9] 5 3.8 4 4.4 0.5 0. 2. 8.6 8.6
TH12H 0.3 281 5 2.8 9.6 5.5 0.8 0. 2.6 10 10
17 kil HIRE A 8H2H 0.3 26.] 5 6.4 6. 4 0.6 0.1 0.4 2.677] B - 1) 9.2 9.2
9H1H 0.3 23.0] 5 0.0 3.9 60.1 6.0 1. 2. i 27] 33. 1
1154H 0.2 15.7] 3 0.0 L1 5.1 0.0 0. 2.667] - 1) 9.4 9.4
| e 2530 0.3 8.1 5 6.2 9.9 1.2 0.0 0. 2.692] -1 7.9 7.9
5H6H 0.3 16.9] 7 0.0 2| 0.7 0.6 0. 2.691] - i 9.9 9.9
65130 0.3 18.9] 6| 0.0 . 3] 0.4 0.2 0. 2.699] - 1) 9.0 9.0
THI12A 0.3, 24.7] 5 10. 0! 4 1.2 0.1 0.5 2. (2R ] 6.1 6.1
18 awill] (] 8H2H 0.3 23.6 7 9.3 .2 4.7 0.6 I 2. ] 14] 14
9H1H 0.3 224 7 0.0 3 122 0.1 2. 2.6 i 14 14
11H8H 0.3, 10. 6| 7 1.7 0.7 0.3 0. 2. R 5.1 5.1
256H 0.3 6.5 7 0.0 3.5 0.2 L. 2. W - B 24) 28.4
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PRIUHR e T B prvTS e
B Kb S| Ak AT H ST RREE [Ba/ke (#278) ]
oL C ey - (0] T S N
Yo. Kk Y3 B A L i T — , RO FoifEs D
[§®) MBSy | RS | MESY iy | (g/cm®) Cs-137 X
5/30H 0.6] 17 5 R 0.0 68.1 11.6) 9.6 2. 642 B - @ 6.2 40 46.2
19 i - 8/120H 0.5 10.6 3 16| 40.7 10. 2] 2. 604 4.9 22| 22
11HTH 0.7 13.8 6| 0.0 40.6] 2.7 2. 624 3.6 24] 24
_— 2530 1.0) 8.4 7 0.0 41.6] 8.1 2. 610) 4.8 22| 26.8
5HTH 0.3]  20.0 5 0.0 286 3 2.7 5.3
5 ) 5 5 7 :
20 - s< o 8H6H 318 0.2] 26,3 5 0.0 16.1 7 2. 14
11/i8H 10.6 0.2 12.7 5 0.0 171 9.0 2. 69 8.8
256H 7.2 0.2[  10.2) 5 0.0 135 4 2. 69 13
5/30H 19.7) 0.2]  20.7 6| 0.0  53.8 6.1 2.6 63.8
, 8)129 0.2 K 7 . 24. 3L X 44
o e P Ji290 21.9 7 1.8 4. 0] 31.2 2 44.8
11HTH 0.2 119 6| 0.0 3.8 6 2. 40.7
- 2530 0.2 5.4 6| 9.6 4.0 2. 159)
. 5HTH 0.2[  19.0 0.0 4 2.6 46.4
k . 8H6H 0.2]  26.8 0.0 9.7 2. 37.3
22| plikic) E< bl - —
ﬂ ’ LisH | & 02 135 2.6, 2.6 35.7
K 2H6H [} 0.2, 12. 4 1.5 2.6 35.8
ES SATH [ 0.2 22.7 1.9 2. 69 15
65130 [ 0.2  23.8 7.9 2. 16
TH12H [ 0.2 27.8 1.0 2. 19
23] bl 1 AR 8H6H [} 0.3 26.3 0.0 2.6 13
9H6H [} 0.5 24.7] 5, S 0.0, 2. 66 11
11H8H 2 0.3 12. 9] 7 250 6.8 2. 10}
i p 256H i 0.3 9.2 7 # 0.0 2. 11
— Bz p
J SHTH [} 0.3 22.8) 5 18 20.7 2. 78
65130 i 0.4 23.0] 5 I 0.0 2. 30.0
THI12H [} 0.3 29.0) 5 18 4.7 2. 16
24 il Kt 8H6H i 0.4 26.0] 5 I 0.0 2. 68
9H6H [} 0.4 24.7 5 RS H 0.0 2. 6.8
11A8H 2 0.3 5 K t 0.0 2. 21
2H6H [} 0.4 7.5 5 RS 2.1 2. 16
5/24H i 0.4 133 3 I B 4.4 2. 32.7
- . . 8126 H [} 0.5 19. 0| 3 K 0.0 2. 41.1
25| wEN SIS FEERT
AR LI26H | 8.6, 04 10.1 3 TR 0.0) 2. 10)
2H8H [ ] 2) 0.3 7.3 4 TR B 0.0 2.6 25
5/24H 5 0.3]  16.7 5 1.8 2.6 7.3
I 8J126 9 .3 5 . b4 I
2| 5 o — SR A26H ! 03] 193 3 0.0 2. 4.38
b e UIH26H | i 3.1 0.3 6.1 5 0.0 2. 63 8.1
=% £ 5
i n Bt 2f8H % 0.2 0.3 5.1 5 0.0 2. 6.6
X X 5/24H [ 19.8 0.4 17.4 5 1.3 2. 6.1
B . 2 i 9. . 4 . 7 .
e A P - 87126H [ 29. 1 0.4 18.0 7 0.0 2. 5.1
UIH26H | i 6.2 0.5 8.2 5 0.0 2. 5.7
2H8H [ ] 2.1 0.4 6.4 5 4.5 2. 3.8
5/24H [ 24. 5 0.3]  15.0 5 0.0 2. 16
n -
2 sl e A0 1 26. 1 0.3 19.3] 5 0.0 2. 50. 2
UH26H | 10.2) 0.4 9.9 5 0.0 2. 34.4
2H8H i 2.4 0.2 4.8 5 0.0 2.5 17
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BB } i — B , — s
B Kb S RAKTE _ AT H _____ _ hxé»lﬂ%lmw‘z [ﬁq’kg(wfa),
No. K s Ay © ] W 2 o FREALR (%) FE HATEE > 5
- MBSy | EES | MBSy | MRS | Ebsy | MRS fi (g/cm®) Cs-137
5125 H 22.7 0.2 0.0 231 26,9 22.5] 217 3.8 2. 723] W - 27]
677 H 17. 0] 0.2 0.0 39.2[ 26,8 164 116 4.7 2.682] - F 20
THSH 21.7 0.2 1.9 50.4]  23.5] 114 9. 1.6) 2.662] - F 43
29| HI it 8J125H [ 29.7 0.2 0.0 41 227 3.3 17 0.4 2. W 23]
9H2H i 30. 1 0.4 0.0 2| 2a2] 191 2.0 2. W 18
UIH26H [ i 10. 2] 0.2 7.8 o] 29,0 30.7 0.0 2. W - 21
| 2f8H i 7.4 0.1 0.0 7] 39.9]  35.3 5.3 0.1 2. W 27]
55250 8 7.6 0.2 0.0 .8 8.0 6.7 9.0 24.4 2. W 10
2 B - 8/25H [ 1. 0.2 2.7 9.1 5.0 6.4 6.2] 2.8 2. i - 7.8
NP 1. 0.3 2.5 3.3 22.2[  15.0 5.8 0.6 3. W 2.1
| 2H9H = 2. 0.2 3.0 .3 8.0 26.6] 0 L5 2. W F 4.7 g
5A21H i 7 0.3 1.9 9.4 20.0 9.0 6.0 3.6 2. W F 15 15
P PN - 8HI2H 2 7. 0.3 0.0 .1 23.1 14. 0] . 4] 5.7 2. [72% 18, 18
3 A e Bkt 1LH16H i 4. 0.2, 0.0 9.3 20. 0] 33. 0] 7 0.6 2.6 R 15 15
| 2H9H = 0. 0.2 2.6 3.7 215 13.6] 108 0.8 2. W - 10 10
5A21H i 7. 0.2 0.0 3] 383 186 6.0 0.3 2. W - B 67 78
r— 8H12H 8 7. 0.2 0.0 7| 25.8] 25.5] 12.0 1.0] 2. W - B 16 95| 111
1LH16H i 7 0.2, 8.7] 0.0 9. 1 33. 2] 25.9) 10.1 0.2 2.6 R 64 73. 9]
| 2H9H = 0.2 4.1 FY—7H 6.9 42| 2000 131 5.8 0.3 2.685] - 1) 44 50.4
5A21H i 0.3 17.2] 3 [N 2.8 .5 9.9  19.3] 384 9.7 2. W - B 16 16
# i 677 H 0.2 133 5 g 0.0 4.9 9.7  32.6] 422 5.3 2.6 18 18
R = TH8H 3 0.2 15.9) 5 ] 0.0 4. 0) 14.2 27.1 28.4 3.7 2. 5.4 5.4
i S N R e (8150 8AI2A | 03[ 187 3 UL 0.0 o[ 78| s 9.6 2. 16 16
x K 9720 [ 02| 17.6 5 i o0 175 229 208 5.1 2. 7.1 7.1
w & LH16H | i 0.2 B i 0.0) 7.8 217 24.4 5.9) 2. 6.8 6.5
L 2H8H [} 0.1 5 18 0.0, 8.8 13.4 20.1 .1 2. 7.2 7.2
5A24H [ 0.2 7 ] 0.0 0.0 0.0 0.4 9.7 0| 2. 26) 26
6HTH [ ] 0.2 5 8 0.0 6.9) 10.9 35.4 4.1 4 2. 18 18
THS8H ; 0.2 7 JRHHE 0.0 0.0) 0.5 1.0 .7 .4 2.6 34 39.3
34 Levs3lll ety M HY 8H26H [} 0.5 3 IR 0.0, 0.0 L1 1.5 3. 0] .0 2. 69 12 12
9A2H [ 0.5 5 g 00 115 6 5.2 4.6 3.2 2.7 15 15
1ATH [} 0.2 6) i) 0.0 0.0) 1.1 9.5 4.0 2. 100 117
| 2f3H [ 0.1 7 TR 2 0.0 3.0 1.9) 4.2 9| 2.6 120 137
SATH [ 0.4 5 R 0.0 34.4 106 .3 .4 2.6 50 59.9
- e 1 8H6H [ 0.4 19.6 5 0.0 20.2 23.6) .2 X 2. 14 14
$° R 1 14H [ ] 0.5 1.7 5 5.2 35.6) 12.7 9.9 .2 2. 6.4 6.4
| o 2ATH [ 0.5 6.5 4 6.8 4 5.9 2 5 2. 27] 33.4
SATH [ 0.5] 17.4 5 0.0 4 9.6 2 .1 2. 9.0 9.0
. P 8H6H [ 0.3] 22,3 5 0.0 .5 8.5 .2 .8 2. 1.0 1.0]
% I CERED 1 14H [ ] 0.3 14.3 5 8 1.8 31.7 9.5 .8 7 2. 7.9 8.76
— REN 2H7H i 0.3 8.4 5 PR3 2.4 3813 18.2 .2 -6 2. 2.6 2.6]
5H10H [ ] 0.8 18. 5| 5 K 0.0 2.7 1.5 .7 2. 32 32
" S [ 8H12H 1 0.3 27.9 5 TR 2 0.0 42.0] 15.5 .1 2. 19 19
1LA5H [ ] 0.3 13.1 8 Y] 0.0 8.9) 2.8 X 2. 6.9 6.9
2HTH i 7.6 0.3 7.6 8 o8 14.3 33.3 7.0 9.8 2. 16 1.6
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s cn | o | AR | ek ] I _ TR T Bk (70))
o. Kk stk Stk © | w : @tn R _ RO : AR
MBSy | RS | MESY sy | (g/cn®) Cs-137
5H10A 24. 8] 1.2 IR E: 0.0, 0.0 0. 2.464] L
6H6H 2 21.0 1.2 IR WS 0.0 0.0) 0. 2. [
TH5H 20. 0 0.4 148 i 0.0 130 8¢ 2. W - B 4.4
38] pasll] R F#Fiti 8HI12H [ 311 0.3 18 e 0.0 0.0) 0. 2. 4 DN 44
9H6H i 31.0 1.2 H 0.0 6.8 4 2.607[ b i 16
11H5H [ ] 12.2 0.4 WA — 748 0.0 0.0) I 2.627[ #
I 2H7H i 6.2 0.3 Biiic) 0.0 2.633] W - B <4.0]
5H21H [ 0.3 9. 5 RS 2.6 2.696) &
. R 8H12H 2 6. 9) 0.2 12.0 3 HEIK 0. 2.705 2
» PG TN T s8] 02 8.9 5 ] 0. 2.796] @ - ik
N v 2HTH il 2.4 0.2 6.4 5 i) 0. 2. Wi
| AR ot 5H2IH | W 14.0 04 _13.7 5 K 2.6 2. i
3 8H12H 2 27.3 0.3 16. 0 5 HEIK 0. 2. i
0 AR LH16H | i 12.4) 02 142 5 ) 7. 2.001] - B
] 2HTH [ 1.2 0.1 7.5 6 i) 0. 2. W
:fxi 5/21H i 23.0 0.5]  20.3] 5 R 3. 2. W
n 6117H . 2| 0.2 19.0] 5 0. 2. i
X TH8H 5 0.3]  20.8 5 z 0. . 2| 2. W - B 4.4
41 % )11 PN 8H12H i 32.2 0.4 24.0] 3 E 0. 5.2 3. i
9H2H [ 31.0 0.3 24.4] 5 0. X 2. W - B
T 1 14H [ ] 16. 1 0.3 14.0 3 0. 9.0 2.
| 2ATH [ 5 0.3 10.7 4 0. 0] 2.
" 5/21H [ 3 0.2  23.3 3 0. 4.0) 2.
! P . 8H12H [ .8 0.2]  24.0 3 0. 33.0 2.
i Tﬁ # P LA 1 14H [ ] 16.2 0.3 16.7 3 3. 10.9) 2. 6
| * 2HTH [} 7.8] 0.1 10. 4] 3 0. 19. 1 2. 18
ES SHTH [} 18.2 0.3 18.0 5 10. 11 2. 7.7
5 L=umr 8H6H [ 33.1 0.3 26.0] 3 0. 2.8 .5 . 2. 103
1LA5H [ ] 1.1 0.3 12.7 8 I 4.7 1.6 0.0 2. 10 10
| . 2ATH [ 6.1 0.3 8.7 7 20. 0.0 0.0 0.0 1. 3.8 3.8
5H10H 2 6 0.7 18.3 3 0. 18.2 . 1 5.1 2.6 24 28.8
8H12H [ 0.3]  25.8 5 2. 12. 4] X 0.6 2. 24] 24
“ it Li5A | 03] 143 5 0. 4.2] 0 0.0) 2.6 24 21
| 2ATH [ 0.3 7.8 5 11 10. 1 6| 0.3 2. 15 15
SATH [ 0.3]  20.8 7 1. 15. 0] 2 1. 2. 7.7
- . - 8H6H [ 0.6] 211 3 0. 18..8] 1 3.5 2. 5.2
» S P U260 [ i 0.2 7.0 3 0. 38. 1 1 9.4 2. 47)
- il 2H9H = 0.3 4. 2| 3 11. 10.2 6) 0.0 2. 4.7
‘ SATH [ 0.2 .9 7 10. 5.4 . 0| 0.5 2. 4.2
% o p—— - 8AGH [ 0.7 5.7 3 0. 5.1 5] 26.0 2. 2.0
| om 11H26H i 0.3 3.2 3 5. 17.4 -3 9.4 2. 10
L Wi 2H9H 2 0.2 6.1 3 24. 2.9 .9) 23.7 2. 38|
Jl ;f; 5HTH [ 0.2 203 7 0. 14. 4] .5 0.7 2. 4.1
. G " . 8H6H [ 0.4 224 3 T 0. 17.8) o] 114 2. 53]
4 ke AR AT LI26H | 0.4 10.0 3 7.3 29.0 .3 0.3 2. 3.4
- mR 2H9H = 0.2 6.1 3 0. 1.7 .4 0.9 2. 4.4
SATH [ 0.1 252 5 1.6 3.9 . 0| 2. 33]
. - 8H6H [ 0.2  23.7 3 4 4.8 7 2. 20)
8 I 1 U260 [ i 0.1 7.2 3 0.0 21.7 5.7 2. 3.8
2H9H = 0.1 3.2 3 0. 16.6 .5 2. 4.3
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RIS , e = EA] TR —
B Kb Sl | Ak AT H ST RREE [Ba/ke (#278) ]
P - T © | o [ : : o BRI (%) B B © 7 5
No. Kiget g4 THE . fakf R — ” - pr , 3
[§®) Mgy | RS | MRSy | MRS | bsy | MRSy [V o] KEddy % (g/cm”) 34 Cs—137
SATH 0.1 19.1 7 [ 2.7 55.0] 257  10.7 4.9 0.2 0.5 0.5 87.0] 2.680[ B - <0.78
_ 8H6H 0.5]  23.7] 3 S it 0.0 299 182[ 203 0 2.5 0.5 15| 79.6] 2.685] b <0.68
19) A A
(i AT 1126 H 04 121 3 ] 0.0 8.9 216 313 7 2.8 0.7 2.0 8.2 2688 <0.81
. 2H9H 0.1 8.4 3 ] 1.8 38.8 16.5 11. 0] .4 0.9) 0.6 1.1 81.6]  2.630 <2.4
| , -
i 5A10H 0.4 17.2] 3 KAV —7 2.8 42,0 10.3 5.4 17.4 3.0 L8] sa0] 2738 4.1
el 616 H 0.3 20.3 3 [ 0.0 9.5 2.3 3.2 43.7] 105 4.6]  73.5] 2.685 8.6
P TH5H 0.3 23.4] 5 2.2 26.5 9.3 5.4 14.5 0.6 2.1 818 2.687 <0.80
50] [#'SS NI 81 12H 0.2 25.9) 5 0.0 L1 5.7 20.7 5.7 3.1 84.4] 2 688 1.7
916 H 0.6]  24.9] 3 0.0 . 0) 0.1 68.3]  17.1 8.7 647 2.627[> 11
11i5H 0.3 7 0.0 4] 7.0 . 0) 16| sa8] 2722 <3.8
2HTH 0.3 7.6 6| 10. 6] L1 4.8 L1 0.6 83.8] 2.704 <0.73
5A10H 0.6 5 [ 0.0 .5 3.2 o] 103 s3.2[ 2688 <1.0 1.7 1.7
= 616 H 10| 3 0.0 7| 197 . 2| 7.5]  46.3[ 2 673 <11 1.6 1.6)
# TH5H 0.8 5 0.0 L1 5 .9 41 s3] e 15
51 e A ZESIH 81 12H 0.8 3 0.0 . 2| 0.7 4] 230 67| e 116)
;fﬁ 9H6H 1.2 5 i 0.0 3] 0.2 3 .3 3 e 88
% LHITH 0.8 5 FAK 0.0 . 0) 0.4 8 .3 3 e 84.8
2H10H 0.8 3 i 4.3 B 0.9 6 3.1 4 2.5 97
5120 10| 3 0.0 2| 217 .1 8 2 25
o 65120 0.2 7 1.4 . 0) 8.2 .2 3.3 2. 14
g I ) TH13H 0.2 0. 7] 2.9 6.0 13.2 9 18] 2 9.1
wl szl | RAFEBFTIE FEUIBUKEE | ROt 8H4H 1.2 16.5 3 0.0 .3, 21.4 9.5| 2. 10
il x| 9J129H 0.4 17.3] 2.3 6] 20.9] 9.2] o 9.7
E ;f; 1240 0.2 7.1 7 z 5.0 14.8 6 2 7.6
; 2H9H 0.3 3.4 7 T 3.3 2.4 3.0 2 6.5
5A23H 0.3 214 2 0.0 20. 0] o 2 4.1
8J129H 0.5]  25.0) 3.2 14.1 9.9 2 11
53 JERE
’ * LA ITH 0.3 11.5] 5 0.0 23.8 o 2 4.7
) ) 5 5 7
o e 2H10H 0.2 5.3 3 0.0 158 2 17.9
I 5A23H 0.6] 241 T 1.4 17.8 12| o 7.1
[ . 8J129H 0.8 23.0) 5 2.1 17.4 6 2 13.0)
54 PEEEI | TPRE
> ] LLHITH 0.5 13. 2| 7 0.0, 15.5 .7 2. 6.14
;f; 21 10A 0.6 8.1 6| 0.0 22.9) N 6.9
’ 5A23H 0.3 26.2] 4 0.0 12,1 3 2 7.2
. L 8H29H 0.4 221 4 0.0 12. 6 8 2.7 70)
55 I ELBUR A KT
> PELAURHS R 1A17H 03[ 148 B 2.6 21.8 902 7.0
2H10H 0.2 9.3 7 0.0 19.0) o 2 9.9
5A23H 0.1 26.4] 5 T 0.0 16. 6, .5 2 8.6
616 H 0.2 22.7] 3 0.0 15.3 3.0 2 6.5
TH5H 0.3 241 5 0.0 8.6 N 11
56 i A 8H29H 1.0) 26.8) 5 0.0 0.8 .1 2. 135
916 H 0.2 27.3] 3 z 10. 0] 8.7 .5 2 8.6
LHITH 0.4 14.6] 5 TES S 1.8 8.3 5.0 2 16
21 10A 0.1 9.2 5 0.0 9.7 N 7.2




WA I (B EBRED)  1/6

FRIRH
No. K mmn | e | SR LR A0 B (LA, M)
H A4 RrAT ©) - s . OGP B EE [Ba/ke (82) ] i
PR HUH 2l R ] 7
1 5H2TA | & Cs-134 jft_ — — (“I’u‘gﬁs it as | ek BAHEDERIE [Ba/ke (H) ]
Al T = 16.0 - - = s 137 &t HH T > © & MR s
8/124A £ 22.5) - - - N Cs-134 Co = (e Sv/h)
s [EVEVEN 10.7 - - - B RS (T T S
i & ; — - . — = 5
AU i 2izH | % 3.4 = — - - - - - EZE' A | ST 110 7?2 l’éig 0,08 (2f%) BAHDS,
2 EIE SA27TA | & 6.5 7 1w - - = s LT | mm RS T R 0.07| Ge) BAHDS,
87241 = 24.2 3 i 810 1,500 5310 T 4 H 580 3,800 > 0.07] (Ef) RAAHO®,
- A & T — B i ol 200l mso] o] ;’% W | R 130 . ) BAHDS
- I S B . Z5 " 790 —
2512H = 0.5 T S 160 910 IR R SV T | %n 0 — 011
3 o 5H27H = = B | Her 350 . .12 ISR T > 1, 640 011
EHER ) | e 15.3 T — 2,300 2, 650 0 — 3 910 5,100
e 1 Sjioin | & CE i 190 950 Y 11 [ T = .4 5,310 0.11
= 2 - . 0. 10 i 20 591
— IiH | & £ | A 150 890 i T 0. 10
AT 272 = 1(1)‘ : ié R 250 1,300 i g;g g 1 Rt W 2(5)8 i ;gg 2,450 0.14
: : . 11 B - , 3,900
1 P 5/127H | & — T 110 T | W . 0.11
o I T I MEEAYT) o ) ) 1 N 2 1 D
= - J , 650 0.20 8 - 980 11
— 11IH1H [ 1 T 360 i) R B , 130 0.11
4.1 21 S 2,100 2, 460 0.17 210 1,200
2/12R W = kS 170 : 12 T | n . 1,410]  0.12
B — 990 1,160[  0.17 560 3,20
’ - . - e - » 200 3,760
5H6H fif 22.0] \C S - - = 5 + | W 300 500 0.12
s 62 | Bl v £ | 93 550 o5 -1 i T n - 20 2,100] 0.1
AE) " THIR ™ A e £ | Em 37 0.15] 1T 50 #il T+ = 0 950]  0.12| (hp) B0 h. B
o BB P — T ﬂz 29. 1 [Ty T En 0 2,300 2,670 0.18 ® - féi 680 3,600 T o JEE) AR %y PRI ]
[ 29.5] 1oV D 190 1,100 1,290 0 — A | 180 1,000 -
i a1 T T s L [ 200 o] 1 NS IS T E — L0l 015
i ;(l PR - 1()‘0 fi E T i 510 1-000 1,;00 0.17| 125V EE " W o 1, 000 1,170 011
= - i J ,210 0.14 i - 410 1
, 2H2H W - - HUT 550 i 18 + B 84 0.11
B il 0.5 18 - — 3, 300 3, 850 0.13 R 590 3,200
+ i 2 . R ) 3,790
6 21 ~ 5H6H | W 20.6] TRV EB L 190 3,100 3890 - | R 200 12 0. 11
IR 8AIH [ & 28.8] (LR SR 1 ) AT ) S BT L SR 68 L
= . S BV - BT - > , 400 0.17 [ - 480 511
— TOILA | T L | s 760 i T | Wm 8 o.11
6.7 [RE - T 1,400 5,160 0.22 590 3,200
HZEHT 2A2H i ) £ | 900 510 : 1 T | W s 3,790 0. 14
- 18 - o . 100 6, 000 0.14 BT . 920 1,900 5,820
7 ol i 5A6H £ 22. 4 T — 2 140 850 990 5 Bisiic + | B 700 Te00 . 0.13
i S | = L £ | A 270 500 - | me TR o . 52000 0.13
— TJ12A | & - Fi £ | T 7000 : L7170 0.24] (TR T 2,300 2, 640 012
= 12.6 e . = > 5, 400 6, 400 0 — = 3 350 1.700
2z | W ¥ B L | 270 1500 . .25 ISV T | oo . 2,050 0.20
560 | & M| R HiTl 5 : 1870 0.18] W - = : 6, 100 7.300] _ 0.19
2 19.5] (oo ik 130 196] 0 . EC 420 2,400 -
6H2H = T 180 G T 3 2, 820 0.16
8 i 22.3] (TN AR — 2,400 2.880] 0 — - 3 350 2,400
ESialll NI EE THI1H W 773 v i 250 300 1* =0 0. 13] TR T+ W S0 1- o 2, 750 0.13
- + i > 2 17| IS N . 1,790
8AIA | W TG S AT 210 T | %0 . 0.21
5| IcBVEE N T 1,100 1,310 0. 15 840 4, 500
oAin | W - L | 300 1,80 : 248 T | mn . 5,310 0.33
— T %Fi f?f a:xg T | mn o 1-302 2, 100 014 (IC 508 T n ézg 1, 600 1,880 0.2
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